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PHYSICS

1. The liquid used in clinical

thermometer is
1) Water
2) Alcohol
3) Benzene
4) Mercury

. With respect to waves ‘A’
represents

1) Frequency
2) Wave length
3) Velocity

4) Amplitude

. Heat energy of an object depends
on its particles

1) Speed
2) Number
3) Mass
4) Allthe above
. If an object moving with a uniform
velocity of 10 ms~' for 20 seconds,
then its acceleration during
20 seconds

1) 10 ms™
2) 2ms™?
3)0
4) 0.5 ms™

$eSTY
=

1. FT 30 PITTRTTRQ WERT TF

%
1) Qe
2) eﬁeir%em@s
3) Boes®
4) TOTTH

3TONNER BoWoRHAWOSB ‘A "Bode3R)
TBRAPRT

1) 8don &=

2) 3TON TWRT

3) 8von FIen

4) 3TON T

20T 5:‘3&35 magsgoﬁ:e.—oscows
STNDHRT & THANODS 3N
3¢ B3 WO3T 3 fadagd

10 ms™ QFITHT INTY 2.0W
SDF 20 BIorFnISSR 8I2TT,
@ 20 FBOTNY WTROHY T
dcﬂmc%&ﬁ;

1) 10 ms™

2) 2 ms™?

3) 0

4) 0.5 ms™2



SAT(K-8)

5. The S.I. unit of momentum is
1) kg ms 2
2) ms™’
3) kgms™’
) 2

4) ms

6. Iftwo bodies of equal masses move
with uniform velocity of ‘V’ and 2V’
then the ratio of their kinetic
energies is

1) 1:2

2)1:3
3) 1:4
4) 1:1

7. The type of mirror used in solar
furnace is

1) Plane mirror
2) Convex mirror
3) Concave mirror

4) Concave lens

8. The bottom of a water tank appears

to be raised because of
1) Reflection
2) Refraction
3) Dispersion

4) Total internal reflection

I
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1) kg ms 2
2) ms™’
3) kg ms™

4) ms 2
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9. In which of the following sound will
not travel ?

1) Air
2) Water
3) Vacuum
4) Solid

10. The potential energy of a body of
mass 2 kg kept at a height of 10 m
is [g =10 ms—2]

1) 100J

2) 200J

3) 50J

4) 150J

11. Inthe following materials which one
has highest density ?

1) Water

2) lron

3) Hydrogen
4) Mercury

12. The displacement of an object
which moves one complete round
in a circular path of radius 14 mis

1) Om

2) 14m
3) 28 m
4) 88 m
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13.

14.

15.

16.

CHEMISTRY

An example of chemical change is
1) Rusting of iron

)
2) Magnetizing of steel plate
3) Melting of iron

)

4) Cooling affect produced by ice

Balanced chemical equation is
1) Al + Clz—> AlCl3
2) 2Al+ 2012—> 2AlCl3
3) 2Al + SCZZ—> 3AlCl3
4) 2Al + SCZQ—> 2AICI 5

When sulphur is ignited in air on a
metal spoon, it burns with

following colour of flame
1) palered
2) pale blue
3) pale green

4) pale yellow

In industries synthesis of ammonia
is done by

1) Carl’s process

2) Loranz’s process
3) Haber’s process
)

4) Newton’s process
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17. The process of transferring of

electronsis
1) Repulsion
2) Oxidation
3) Reduction

4) Attraction

18. The common element present in
bleaching powder and common

saltis
1) Aluminium
2) Sulphur
3) Chlorine

4) Manganese

19. This is used in the sugar industry
to remove colouring matter from

sugar
1) Carbon-di-oxide
2) Sodium carbonate
3) Chlorine

4) Sulphur-di-oxide
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20. Sodium bicarbonate is used to
prepare
1) Lime water
2) Rose water
3) Salt water

4) Soda water

21. Animal fats or vegetable oil is used
to prepare
1) Coal
2) Baking soda
3) Coke
4) Soap

22. Sodium and potassium are
preserved under
1) Water
2) Salt water
3) Kerosene
)

4) Sugar solution

23. Water gas is the mixture of carbon
monoxide and hydrogen in the
ratio of

1) 3:1
2) 2:2
3) 3:2
4)1:2
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BIOLOGY

24. An animal that can be grouped with

whales, according to the modern
classification

1) Shark

2) Dolphin

3) Seahorse

4) Tortoise

25. The correct combination of
scientist and the kingdom created

by them among the following

1) Copeland — Mycota
2) Whittaker — Protista
3) Linnaeus — Plantae

4) Ernst Haeckel — Monera

26. The component of the animal cell
that helps in the repair of body
parts

1) Ribosome

)

2) Centriole

3) Lysosome
)

4) Mitochondria
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27.

28.

29.

30.

In the digestive system of
cockroach the part that acts as a
grinding chamber
1) Crop
2) Hepaticcaeca
3) Gizzard
)

4) Rectum

The functional groups present in
amino acid are

1) Alcohol and Aldehyde
2) Amine and Ketone

3) Carboxyland Amine
4) Ketone and Aldehyde

The Earth’s atmosphere changed
into an oxidizing type due to
appearance of the following

1) Bacteria

2) Virus

3) Bluegreen algae
4) Yeast

The living entity that cannot be
included either under Prokaryotes
or Eukaryotes

1) Virus

2) Bacteria

3) Amoeba

4) Chlamydomonas
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31. In the initial days of Earth’s
formation, the lighter elements
distributed in the middile layer

1) Iron and nickel
2) Hydrogen and oxygen
3) Carbon and zinc

4) Aluminium and silicon

32. The correct matching of anorganism

and their scientific name is

A. Dog 1. Naja naja

B. Man 2. Canis familiaris
C. Horse 3. Equus caballus
D. Cobra 4. Homo sapiens

1) A—2,B-4,C—-3,D—1
2) A-3,B-2,C-4,D—1
3)A-1,B-4,C-3,D-2

4) A-4,B-2,C—3,D-1
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33. Food crops are grown along with

leguminous plants to enrich the

soil with
1) Phosphorus
2) Potassium
3) Nitrogen

4) Ammonia

34. The widely accepted system of

classification was proposed by
1) Copeland
2) Whittaker
3) Ernst Haeckel

4) Linnaeus

35. The function of lipids in human
body is
1) Bring down inflammation within

the body

2) Helps in the metabolism of

carbohydrate
3) Promotes skeletal growth

4) Regulate fluid balance in our

body
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HISTORY

36. The important cities of Harappan
civilization are

1) Pataliputra, Mohenjodaro,
Harappa

2) Mohenjodaro, Harappa, Nalanda

3) Lothal, Harappa, Ujjain

4) Harappa, Lothal, Kalibangan

37. The statement which does not
belongs to ‘The Vedic Age’

1) The most ancient Veda is
‘Rigveda’

2) The Vedas were in a written form
from the beginning

3) The tribes named Bharata were
called themselves as Aryans
during this period

4) The performance of Yagnas
found in Yajurveda and
Atharvanaveda

38. Read the following sentences and
choose the correct alternate :

A. Ancient monuments enable us
to know about the civilization,
technology, social and
economic conditions.

B. The first Kannada inscription
Halmidi belongs to Mauryan
dynasty.

A is true, B is false

A is false, B is true
Both A and B are false
Both A and B are true

1)
2)
3)
4)
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39. A scientist who was famous as
‘Father of Indian Medicine’ in
Gupta’s period

1) Sushruta
2) Varahamihira
3) Dhanwantari
4) Charaka

40. Pushyabhuti : Vardhana King : :
Pulakeshi :

1) King of Chalukya’s
2) King of Gupta’s
3) King of Kadamba’s
4) King of Ganga’s

41. The language which was developed
during Roman period was

1) Latin

2) Greek

3) Portuguese
4) Spanish

42. Match the following and choose the
correct alternate :

A. Greeks 1. Tupac
B. Aztecs 2. Steles
C. Mayas 3. Tenoch
D. Incas 4. Tyrants

1) A—4,B—2,C-3,D -1
2) A—2,B-4,C—1,D-3
3) A—4,B-3,C-2,D—1
4) A-1,B-3,C-4,D-2
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43. The first dynasty that established
in Karnataka is
1) Shatavahanas
2) Kadambas
3) Gangas
4) Chalukyas

44. The work ‘Gajashastra’ was
written by
1) Gunadya
2) Chavundaraya
3) Durvinita

4) Sree Purusha

45. The chronological order of the
following is :
a. MahapariNirvana
b. Collected in Tripitakas
c. Enlightenment of Buddha
d. Dharma Chakra Pravarthana
1) a,b,c,d
2)d,c,b,a
3)c,dab
4) c,a,b,d
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GEOGRAPHY AND ECONOMICS

46. The boundary that separates the
mantle from the core is called

1) Gutenberg discontinuity
2) Mohorovicic discontinuity
3) Asthenosphere discontinuity

4) Inner core discontinuity

47. The hardest rocks on the earth are
1) Sedimentary rocks
2) Intrusive rocks
3) Metamorphic rocks
)

4) Igneous rocks

48. Construction of Koyna dam in
Maharashtra became a cause for
this natural disaster

1) Volcanic Eruption
2) Tsunami

3) Coastal Erosion
4) Earthquake

49. Greenland and Antarctica are the
best examples for

1) Continental glaciers
2) Valley glaciers
3) Moraines

4) Lagoons
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50. This types of springs are found
more in Australia
1) Geysers
2) Artesian wells
3) Intermittent springs
4) Hot springs

51. This figure represents

HP

1) Planetary winds
2) Trade winds

3) Anticyclones
4) Cyclones

52. The clouds that causes heavy
rainfall and snowfall are

1) Stratus

2) Cumulus

3) Cirrus
)

4) Nimbus

53. Afternoon rains are mostly foundin
1) Polarregions

2) Equatorial regions

3)

)

4) Himachal regions

Temperate regions
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55. Agriculture is the best example for

the type of man’s economic activity
1) Consumption activity
2) Exchange activity
3) Distribution activity

4) Production activity

56. The Indian scientist who was
awarded Nobel Prize for leading
international team on the inter
government panel on climate

change
1) Sir C.V. Raman
2) Rabindranath Tagore
3) Angsen

4) R.K.Pachauri

57. The best example for renewable

resources is
1) Coal
2) Gold
3) Solar energy

4) Petroleum

19
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POLITICAL SCIENCE, SOCIOLOGY &
BUSINESS STUDIES

58. The ancient Greek philosopher
recognised as “The Father of
Political Science”

1) Socrates
2) Plato
3) Aristotle

4) Homar

59. In India the Citizenship Act was
passed in the year
1) 1950
2) 1955
3) 1976
4) 1986

60. |1 was born in India and my parents

are Indians. The method under which
l acquired Indian citizenship ?

1) by registration

2) by birth

3) by incorporation of a new

territory

4) by descent
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60. SO PITITY WALTOELR. 554 clelo]

TONR SO0 POTSC03ITI. [ome
03T @d%ﬁ&d 33 VNS O350

20T TIRT SRV JRATHES ?
1) Jwecomd Do

2) BIBIwN

3) SP3BT FPTHEEIT FeTEBONOT
4) BT FOWOT /RVB[OSTZOWOT



SAT(K-8)

61. Recently the officials appointed to

all Grama Panchayat by Karnataka
Government through KPSC

1) BDO
2) EO

3) PDO
4) CEO

62. The minimum age to vote in
India is

1) 18

2) 20

3) 21

4) 25

63. The Father of Sociology is
1) Herbert Spencer

2) Max Weber

3) Karl Marx

4) Auguste Comte

64. The oldest and simplest society in
the Human Society was

1) Hunting and food gathering
society

2) Cattle rearing society

3) Farming society

4) Industrial society
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65. The culture of one society differ
from the other society. The reason

for this difference is

1) Culture is transmitted from one
generation to another generation

2) Political system changes from
society to society

3) Geographical features, traditions
and needs of the people vary

4) Economic conditions vary from

society to society

66. Division of tasks according to skills
is called
1) Labour
2) Division of labour
3)
)

4

Essential labour

Division of tasks

67. India adopted the policy of
economic liberalization policy in

the year
1) 1990
2) 1991
3) 1992
4) 1995
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68. Among the following countries the
best example for entrepot trade is
1) Singapore
2) India
3) Kenya
4) U.S.A.

69. A partner contribute fixed amount
of capital and share profits and
losses in proportion to their
capital. They take active part in the
day-to-day affairs of the business
is called

1) Active partners
2) Sleeping partners
3) Nominal partners

4) Minor partners

70. The minimum number of members

in co-operative societies is

23
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71.

72.

73.

MATHEMATICS

In the given sum A, B, C are
consecutive digits, in the third row
A, B, C appear in different order.
The values of A, B, C are

ABC

1) 1,2, 3
2) 2,3, 4
3) 3,4,5
4) 4,5,6

The value of

Jas2 16

1) 2

2) 4

3) 16

4) 64
98A36 is divisible by 11. Then the
value of A

1) 5

)
3) 9
) 3

24

71.

72.

neds

9Q RLILT SZ0e3TY A, B, C nisd
BRNS ©OIR, RN WBHORY
A, B, C n¢> Wed 0w
ﬁséx%.ra%*ggaﬁ. Somewd A, B, Cns
BSned

ABC
+BCA

Ao B33



SAT(K-8)
74. Which is the greatest among the
following ?

) V15 -+/13
) V9 -7
) J11-+9
) J18-+/11

75. If /5 =2.236 and /10

V10-+/5 .
\/E IS

N

A W
—] —
—]

=3.162. The

value of

1) 0.455
2) 0.855
3) 0.655
4) 0.755

76. Choose a fraction which is

equivalent to %

128
) 380
515
2) 1255

415
920

1080
1440

3)
4)

77. What percent of 8.25 mis 75¢cm ?
150,
1) ETH Yo

750
11 &

80,
11 &

100,
17

2)

3)

25

0 R A0
74. 2RYNYY SRYT> Y03 BRFR ?
) V15 -/13
) 9 -7
) N11-+/9
) 18 -1

A W DN
RN N N —

75. 5 =2236 % 10 =3.162

g Y045 .,

76. % DRI a';mﬁlrreé)osmoﬁl
esoﬁaﬁ =R

128
1) 180

515
1255

415
920

1080
1440

77. 825m T m% 3e3tz 75 cm
STHYT 2
150,
1) =%
2) £2%
800,
11
100,
177

3)

4)
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78.

79.

80.

81.

If each dimensions of a rectangle
is increased by 100%, then its area
increased by

1) 100 %

2) 200 %
3) 300 %
4) 400 %

The average of first 10 even
numbers

1) 55
2) 7
) 11
) 21

w

4

The marked price of a radio is 20%
more than the cost price. If the
discount of 10% is given on the
marked price. The gain percent is

1) 12%

2) 8%
3) 20 %
4) 10 %

The sum of a number and its double
is 69. Which is the number ?

1) 46.6
2) 34.5
3)

)

23
4) 20

26

78.

79.

80.

81.

20T SORIT T SRR,
3¢. 100 éagzdd, Dinte)
DCEOF TN ézgg

1) 100 %
2) 200 %
3) 300 %
4) 400 %

Sacy @3y B0 Bosine BoeKo
1) 55

2) 7

3) 11

4) 21

2000 BeRABACT IFRNJT WB00
wgw FInos 20% émwnd.
SWNRRNT WF03 FTed10%
O3RN E ACRTT, RV ezt Y

1) 12%
2) 8%
3) 20 %
4) 10%

20T Hoss, THd TS ITESHS
203 69 $TI & R0l IR ?

1) 46.6
2) 345
3) 23
4) 20
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82.

83.

84.

If X2 - 3x + 1 = 0 then the value of

Ramya is twice as old as Sunitha,
three years ago she was three
times old as Sunitha. The present
age of Ramyais

1) 6 years

)

2) 8 years
3) 12years
4) 14 years

The height of a triangle is % of the

base. If the height is increased by
4 units and base is decreased by
2 units. The area will not change.
Then find the base
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82.

83.

84.

X —3x+1=0 =53 x—% = 2363
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85. If 3*+3 =9 X+1then the value of xis

86. The value of [(22)3}0 a [(20)3}2
1) 0

&)
R

)
)
4) 16

87. The minimum number of

non-collinear points required to

determine a plane is

88. In which type of triangle, two of its

altitudes are equal ?
1) Rightangled triangle
2) Equilateral triangle
3) Isosceles triangle

4) Scalene triangle

28

DR
85. 3**3=9*+1x38 x © XS

se. [(27)']-[(27]

4) 16

87. womn smswm& APEOTR
ORZIWLR  BTFTRABIVT 3F
WOWNY 50‘935

1) 1
2) 2
3) 3
4) 5
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89. What value of x makes ASB a
straight angle ?

1) 30°
2) 50°
3) 49°

4) 60°

A
90. In the figure PQ || ST, QRS is

100"
1°

1) 30°
2) 40°
3) 50°

4) 60°

89. x 3 cims Bdcky AOBOBR:,
OHEAHTRNDTD 2

1) 30°
2) 50°
3) 49°
4) 60°

90. 3RO PQ || STend, QR S 2nesd
Ol ket
P Q

100"
iR
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is given to

you.
. All questions are compulsory, each question carry one mark.

. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not do any stray

marks on OMR Sheet.

e Ex: In a question paper if SI. No. 3 is correct answer for Question No. 20, then darken

OMR answer sheet using blue/black ball point pen as follows.

201D 2 @ @ (This is an example only)

. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
. The candidate and Room Supervisor should sign in the OMR sheet.

. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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